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(EE)E1R FEHNOFR

FTER(E—VBRFEEF)

EHR
N A E, AL Fang i 0% 31ERE T 5E | TR O£E
FHEEE Fm/ & 27,647 28,790 28,790 28,790 28,790
ﬂ‘&"fj;ér; E—oBEER m B 6,684 6,489 6,587 6,587 6,587 /
(A ) RAEHHRE M. B / |
HEA % | |
EHEEE Fm/ & 128 126 127 127 127
ﬂ%;;é?; E—/BESE m. B 73 70 72 72 72
GE B #4%) HERIERE m ./ B
HEH % | |
EMEES Fri F 799 852 852 852 852 / [
IWHTYFA E—/VBEES m /B 338 349 349 349 349
XEEHK BEAKREER m B
R %
FHEEE Fm & 2,364 2,365 2,365 2,365 2,365 / /
IWHTYFA E—/VBEES m /B 828 804 816 816 816 / /
PSR X REAREE m B
R % / /
FHEEE Fm/ & 48,900 49,075 49,383 50,539 51,572 / /
MHETUTA E—oBEESR m B 17,795 24,153 24,531 25,047 25,047 | |
R - FEMX
(EAmEENEEY) |[BENERE m. B0 | /
HEA % | |
FHEEE Fm/ & 38,662 38,652 38,657 38,657 38,657
IWHTIYFA E—VRTEE m /B 10,424 10,443 10,443 10,443 10,443 / /
NFRIER RENREE m B / /
BEH % | /
EHEEE Fm/ & 118,500 119,859 120,173 121,330 122,363
. E—VRFEE m /B 36,142 42308 42797 43313 43313
AT T AR BEAREE M B
R %
FHFEEE Fm & 42,892 43,784 43,784 43,784 43,784
IWHTY7B E—/VBEES m /B 8,295 7,752 8,024 8,024 8,024
TR FRBE BENKEER m . B
R %




(BEE)E1R FEIOFHRIBER(E—IVIRTEES)

EHR
N A E, AL Fang i 0% 31ERE T 5E | TR O£E
FHEEE Fm/ & 9,170 9,436 9,436 9,436 9,436
IWHITUT7B E—VRTEE m /B 1,994 2,135 2,135 2,135 2,135
NFRIER RENREE m B / |
HEA % | |
EHEEE Fm/ & 52,062 53,220 53,220 53,220 53,220
. E—VRFEE m /B 10,289 9,887 10,159 10,159 10,159
Ty 7 B BEAREE M B
HEH % | |
FHFEEE Fm/ & 490,808 499,956 500,840 500,398 500,619 / /
; E—/VBEES m /B 97,850 92,360 95,105 95,105 95,105
HhHiTY 7 Rt BEAREE B
R %
FHEEE Fm & 661,370 673,036 674,233 674,948 676,202 / /
NS TR 8 5 I_:—’JH#%EEE m:/ﬂ%‘rﬁaﬁ 144,281 144,555 148,060 148,576 148,576 / /
RENERE m /B
HAEH % / /
B R £, AL Sanag i 0% E 31ERE TR / £E | TR / i
FHEEE Fm/ & 15,848 20,973 20,973 20,973 20,973 / /
IWHIUFA E—VBRE=S m /B 10,405 12,873 12,873 12,873 12,873 / /
R - F R i X RENRGEE m B / /
AEH % | |
FHEEE Fm/ & 15,290 15,175 15,232 15,232 15,232
IWHIUFA E—VRTEE m /B 2,749 2,710 2,730 2,730 2,730 / /
NFRIER RENREE m B / /
BEH % / /
EHEEE Fm/ & 31,138 36,147 36,205 36,205 36,205
. - E—VRFEE m /B 13,154 15,583 15,602 15,602 15,602
RAEFAPAE RE ARG M. B
R % /
FHFEEE Fm & 692,509 709,183 710,438 711,153 712,407
~ = E—/VBEES m /B 157,435 160,138 163,662 164,178 164,178
- AENRRE m. B RS
RN %




(EE)F2R TREE

ENAAEH
HXETH % ERH TRXEER 99.9kr
= 215 E 28EE 295 F N N N -
o el @@ | @EmEn) | peg | OFE | SIFE | %R B
7 |HRREER ki 57.8 57.8 57.8 59.3 59.3 / /
Z)i HIGRER— R HFHR a 33,851 34,233 34,541 35,792 36,100 / /
| pes R R A—S— FERRMAHEE | B 26,300 26,326 26,389 26,370 26,338 / /
g | A U | % 0.3% 0.1% 0.2% -0.1% -01% / /
B RRRENERERE % 77.7% 76.9% 76.4% 73.7% 7304 / /
- m 536,999| 537565 539,043  541259| 542,404
SRR SAEEHUE | % 0.3% 0.1% 0.3% 0.4% 0.2%
” HXETH % ERH THXEER 99.9krf
i - 2EE | BEE | 29EE . . - */'
3 [RENFE (=) | (=R | waE) | OFE | NIFE FE FE
T |HRREEE ki 15 0.1 / /
;2 LA K — AR P 943 of / /
X [BRRENHRA—S—FERRAHEE | @ 2 of / /
o |HRRERS AT RE % 21.2% 0.0% /
EEER m 509 0
HXETH 2 KR TER R ETR 99.9kni
& " 20FE | 28FE | 29%E /'
m [RENFE 2 |cwnw) | pam | WFE | sex | wm /| sE
}ﬁ Hia X mER ki 57.8 57.8 59.3 59.3 59.4 / /
g | BRI — S B 33,851 34,233 35,484 35,792 361000 / /
X @ RERARA——FEERRARE | # 26,300 26,326 26,391 26,370 26338 / /
B RRRENE R ERE % 77.7% 76.9% 74.4% 73.7% 73.0% /
BELR m 536,999| 537,565\  539,552] 541,259 542,404




(EE)F2R TREE

ENRBEAESH
HXETH % — = TER R ETR 23.0krf
- 215 & 284 295 & - i i i
o i @@ | @EmEn) | peg | OFE | SIFE | %R FE
7 |HRREER ki 230 230 230 230 230 / /
Z)i HERA R P9 — At 55K P 5,099 5,149 5,209 5,269 5,329 / /
@ | mmn gy |[FERBEY | @ 3,180 3,191 3,199 3,196 31920 / /
g | A U | % 0.8% 0.3% 0.3% -0.1% -01% / /
B RRRENERERE % 62.4% 62.0% 61.4% 60.7% 500% / /
- m 134,226)  134336]  134336] 134336 134,336
SRR XRTFEERVE | % 0.1% 0.1% 0.0% 0.0% 0.0%
” HXETH % — = ITER R ETR 23.0krf
i - 215 & | 285GE | 295 N N */ */'
3 [RENFE (=) | (=R | waE) | OFE | NIFE FE FE
= [l EeE a / /
ff A8 R — R 5 P / /
N [RRERNTR A —FERRARH | @ / /
5 [FRERENEAERE % 7
BEER m
HXETH 2 — =0 TER R ETR 23.0krf
& " 20FE | 28FE | 29%E /'
m [RENFE 2o | ceiaw | pam | oFE | owm | =x /| sE
}ﬁ BRI ki 23.0 23.0 23.0 230 230 / /
g | BRI — S B 5,099 5,149 5,209 5,269 5320 / /
X @ RERARA——FEERRARE | # 3,180 3,191 3,199 3,196 3192 / /
B RRRENE R ERE % 62.4% 62.0% 61.4% 60.7% 59.9% /
HEEE m 134,226)  134336]  134336]  134,336] 134,336
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(EE)F2R TREE

ENRBEAESH
MR BT 4 REF TR EER 28.3kn
- 215 & 284 295 & - i i i

o i @@ | @EmEn) | peg | OFE | SIFE | %R FE

7 |HRREER ki 4.9 4.9 4.9 49 49 / /

Z)i HIGRER— R HFHR a 1,577 1,680 1,825 1,848 1,862 / /

@ |pemmpnyz iy [FERDBARY | @ 227 361 500 510 5100  / /

g | A U | % ~1.7% 59.0% 38.5% 2.0% oos| / /

B RRRENERERE % 14.4% 21.5% 27.4% 27.6% 27.4% / /
- m 13,588 13,588 13,588 13,588 13,588 /
SRR SAEEHUE | % 0.0% 0.0% 0.0% 0.0% 0.0%

” TR BT 4 REF TR 28.3kr

i - 215 & | 285GE | 295 N N */ */'

3 [RENFE (=) | (=R | waE) | OFE | NIFE FE FE

® |HEREER ki 0.0 / /

ff LA K — AR P 10 / /

X [BRRENHRA—S—FERRAHEE | @ 10 / /

o (HRRERS AT RE % 100.0% /
BEER m 0
HXETH 2 REF TER R ETR 28.3kr

B n 2EE 28EE 205 fE /'

m [RENFE 2o | ceiaw | pam | oFE | owm | =x /| sE

}ﬁ BRI ki 49 49 49 49 49 / /

g | BRI — S B 1577 1,680 1,835 1,848 1862] / /

X |HERERARA—S—EERRHRYE | # 227 361 510 510 5100 / /

B RRRENE R ERE % 14.4% 21.5% 27.8% 27.6% 27.4% /
SEEER m 13,588 13,588 13,588 13,588 13,588




(EE)F2R TREE

ENAAEH
HXETH % i SR T TER R ETR 35.6ki
= 215 E 28EE 295 F . N N -

o i @@ | @EmEn) | peg | OFE | SIFE | %R B

7 |HRREER ki 0.2 0.2 0.2 0.2 0.2 / /

 [BREEN— B A 136 148 150 153 155 / /

@ |pemmpnyz iy [FERDBARY | @ 35 34 34 34 34 / /

g | A U | % 0.0% -2.9% 0.0% 0.0% oos| / /

B RRRENERERE % 25.7% 23.0% 22.7% 22.2% 21.9% / /
- m 2,288 2,288 2,288 2,288 2,288 /
SRR SAEEHUE | % 0.0% 0.0% 0.0% 0.0% 0.0%

” HXETH % i SR T ITER R ETR 35.6k

i - 215 & | 285GE | 295 N N */ */'

= [AENFE (= | @R | mE) | OFE | YEE | %E FE

T |HRREEE ki / /

ff A8 R — R 5 P / /

N [RRERNTR A —FERRARH | @ / /

o (HRRERS AT RE % /
EEER m
HXETH 2 2 SR T TER R ETR 35.6k

B n 2EE 28EE 205 fE /'

m [RENFE 2o | ceiaw | pam | oFE | owm | =x /| sE

}ﬁ BRI ki 0.2 0.2 0.2 0.2 0.2 / /

g | BRI — S B 136 148 150 153 55|  / /

X \BERERNORA—S—EERRAHRE | B 35 34 34 34 4|/ /

B RRRENE R ERE % 25.7% 23.0% 22.7% 22.2% 21.9% /
SEEER m 2,288 2,288 2,288 2,288 2,288




(EE)F2R TREE

ENAAEH
HXETH % RS EH TER R ETR 129.9krf
= 215 285 E 295 i N - -

o i @@ | @EmEn) | peg | OFE | SIFE | %R B

7 |HRREER ki 6.0 6.0 6.0 6.0 6.0 / /

 [BREEN— B A 1,395 1,370 1,355 1,340 1,325 / /

@ |pemmpnyz iy [FERDBARY | @ 862 852 854 853 852 / /

g | A U | % -0.9% ~1.2% 0.2% -0.1% -01% / /

B RRRENERERE % 61.8% 62.2% 63.0% 63.7% 64.3% / /
- m 19,368 19,370 19,370 19,370 19,370 /
SRR SAEEHUE | % 0.0% 0.0% 0.0% 0.0% 0.0%

” HXETH % REEH ITER R ETR 129.9kri

n - 21FE | 28FE | 29%FE - - */ */'

= [AENFE (= | @R | mE) | OFE | YEE | %E FE

= [l EeE a / /
ff A8 R — R 5 P / /

X [BERERHRA—S—FERRTRY | B / /

o (HRRERS AT RE % /
BEER m
HXETH 2 RS EH TER R ETR 129.9kr

& " 20FE | 28FE | 29%E /'

m [RENFE 2o | ceiaw | pam | oFE | owm | =x /| sE

}ﬁ BRI ki 6.0 6.0 6.0 6.0 6.0 / /

g | BRI — S B 1,395 1,370 1,355 1,340 1325] / /

X @ RERARA——FEERRARE | # 862 852 854 853 852 / /

B RRRENE R ERE % 61.8% 62.2% 63.0% 63.7% 64.3% /
SEEER m 19,368 19,370 19,370 19,370 19,370




(EE)F2R TREE

ENAAEH
X HTH 4 R TER R ETR 368.2kr
- FE 28EE 295 F . o o i
o i &) | EER) | e | OFE | GNRE | %E T
7 (I XEEE ki 110.8 110.8 110.8 110.8 110.8 / /
Z)i BA R I P — AR T 35K I 103762|  104848| 106045  107,243] 108441 / /
@ | mmn gy |[FERBEY | @ 52,195 52,624 52,831 53,041 53224  / /
g | RS S e EmuE | % 1.1% 0.8% 0.4% 0.4% 03 / /
B RRRENERERE % 50.3% 50.2% 49.8% 49.5% 49.1% / /
REEE _ ¢ m 823061| 825654  828528]  830937] 835061 /
SEEEHRVE | % 0.7% 0.3% 0.3% 0.3% 0.5%
” X HETH & R ITER R ETR 368.2kr
i - 21EE | 28%E | 295E N - */ */'
3 [FOFE =) | =R | mer | OFE | IFE | R FE
® |BHAREEE ke / /
;2 AR B — AR T 5 P / /
N [RRERNTR A —FERRARH | @ / /
i |BIERERSRE R E % / /
BEER m
X HETH 4 R TER R ETR 368.2kni
& " 20FE | 28FE | 29%E /'
m [RENEE =R | EgR) | pag) | OFE | IEE E”:/ ik
}ﬁ AR EER ki 110.8 110.8 110.8 110.8 110.8 / /
go | IR IR — ARt 4K 7 103762|  104848|  106045|  107,243| 108441 / /
X @ RERARA——FEERRARE | # 52,195 52,624 52,831 53,041 53224 / /
B eREn e TR E % 50.3% 50.2% 49.8% 49.5% 49.1%| / /
HEEE m 823061|  825654]  828528]  830937| 835061




(EE)F2R TREE

ENAAEH
X HTH 4 FERPRR THREEE 44.7kn
- 215 & 284 295 & - i i i

g A0 FE &) | EER) | e | OFE | GNRE | %E wE

7 |HRREER ki 8.0 8.0 8.0 8.0 8.0 / /

Z)i BEAR R I — ARt 5 P 10,852 11,200 11,439 11,677 11,916 / /

| pes R R A—S— FERRfHEE | @ 4,837 4,938 5,027 5115 5,188 / /

- * HaEEAUE | % 2.3% 2.1% 1.8% 1.8% 14%  / /

B eREn e TR E % 44.6% 44.1% 43.9% 43.8% 435%| / /
- m 70,743 70,999 73,020 74,396 75,583 /
SRR ABTFEEFRUVE | % 1.5% 0.4% 2.8% 1.9% 1.6%

” X HETH & FEHPRR THREEE 44.7kn

po N 21EE | 28%E | 295E - - */ */'

= [AENFE (=) | @R | mar) | OFE | IFE | FE R

= [ReREEE B / /

ff BHA R ISP — AR T 5 P / /

N [RRERNTR A —FERRARH | @ / /

i |ERRERERE RE % /
BEER m
X HETH 4 FEHHPRR ITHREEA 44.7kn

B n 2EE 28EE 205 fE /'

m |RENER 2 | unw) | pam | 0FE | wwm | wx /| @

}ﬁ BRI ki 8.0 8.0 8.0 8.0 8.0 / /

go | IR IR — ARt 4K 7 10,852 11,200 11,439 11,677 11.916] / /

X ERE N R A—2—FERIT R & 4,837 4,938 5027 5115 5188 / /

B eREn e TR E % 44.6% 44.1% 43.9% 43.8% 43.5% /
EEER m 70,743 70,999 73,020 74,396 75,583




(EE)F2R TREE

ENAAEH
MR BT 4 FRMHER TR EER 66.3kni
= 215 285 E 295 i N N -
o el @@ | @EmEn) | peg | OFE | SIFE | %R B
7 |HRREER ki 46.8 46.8 46.8 46.8 46.8 / /
Z)i HERA R P9 — At 55K P 49,885 50,782 51,641 52,499 53,357 / /
| pes R R A—S— FERRMAHEE | B 31,461 31,940 32517 33,090 33,563 / /
g | A U | % 1.3% 1.5% 1.8% 1.8% 149  / /
B RRRENERERE % 63.1% 62.9% 63.0% 63.0% 62.9% / /
i _ ¢ m 409074| 410131  412,796]  414096] 415282 /
SAATEEMBVE | % 1.0% 0.3% 0.6% 0.3% 0.3%
” TR BT 4 FREMHRR TR 66.3kni
n - 215 & | 285GE | 295 N N */ */'
3 [RENFE @) | EmEn) | pep | OFE | SFE | R FE
T |HRREEE ki / /
ff A8 R — R 5 P / /
X [BERERHRA—S—FERRTRY | B / /
5 [FRERENEAERE % 7
EEER m
HXETH 2 FEHRE TER R ETR 66.3k
B n 2EE 28EE 205 fE
m [RENFE b || pam | wex | orx | wx /] =x /]
}ﬁ Hia X mER ki 46.8 46.8 46.8 46.8 46.8 / /
g | BRI — S B 49,885 50,782 51,641 52,499 533571  / /
X @ RERARA——FEERRARE | # 31,461 31,940 32,517 33,090 33563 / /
B RRRENE R ERE % 63.1% 62.9% 63.0% 63.0% 62.9% /
BELR m 409074|  410131]  412,796]  414096] 415282
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(EE)F2R TREE

ENRBEAESH
HXETH % FEM&E TER R ETR 110.9k
N 21EE | 28EE | 29%E - - - -
o i @@ | @EmEn) | peg | OFE | SIFE | %R B
7 |HRREER ki 54.8 54.8 54.8 54.8 54.8 / /
Z)i HERA R P9 — At 55K P 60,737 61,982 63,080 64,176 65,273 / /
| pes R R A—S— FERRMAHEE | B 36,298 36,878 37,544 38,205 38,751 / /
g | A U | % 1.5% 1.6% 1.8% 1.8% 149  / /
B RRRENERERE % 59.8% 59.5% 59.5% 59 5% 50.4% / /
i m 479817| 481,120 485815  488491] 490864 /
- XRTFEERVE | % 1.1% 0.3% 1.0% 0.6% 0.5%
” HXETH % FEM&E ITER R ETR 110.9krf
i - 215 & | 285GE | 295 N N */ */'
= [AENFE (= | @R | mE) | OFE | YEE | %E FE
T |HRREEE ki 0 0 / /
;2 LA K — AR P 0 of / /
X [BRRENHRA—S—FERRAHEE | @ 0 o / /
5 [FRERENEAERE % 7
EEER m 0 0 0
HXETH 2 FEMGE TER R ETR 110.9kn
B n 2EE 28EE 205 fE /'
m [RENFE 2o | ceiaw | pam | oFE | owm | =x /| sE
}ﬁ Hia X mER ki 54.8 54.8 54.8 54.8 54.8 / /
g | BRI — S B 60,737 61,982 63,080 64,176 65273 / /
R BERENARA—F—FERRGRE | @ 36,298 36,878 37,544 38,205 38751 / /
B RRRENE R ERE % 59.8% 59.5% 59.5% 59.5% 59.4% /
BELR m 479817|  481,120]  485815]  488491] 490864
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(EE)F2R TREE

ENAAEH
MR BT 4 INFHT TR EER 51.4kni
- 215 & 284 295 & - i i i
o el @@ | @EmEn) | peg | OFE | SIFE | %R FE
7 |HRREER ki 42.6 42.6 42.6 426 426 / /
Z)i HERA R P9 — At 55K P 57,569 58,316 59,046 59,776 60,506 / /
A 4 4ok 0 R A | TR | 45,900 46,805 47,388 47,823 48,303 / /
g | A U | % 2.8% 2.0% 1.2% 0.9% 104 / /
B RRRENERERE % 79.7% 80.3% 80.3% 80.0% 7984 / /
_— m 361,707|  365820]  371,820]  373718] 375576 /
e XRTFEERVE | % 1.5% 1.1% 1.6% 0.5% 0.5%
” TR BT 4 INFHT TR 51.4kni
n - 215 & | 285GE | 295 N N */ */'
3 [0 FE &) | @man | pEr) | OFE | SR EE/ 5”5/
E |HAEXEEE ke
ff A8 R — R 5 P / /
X [BERERHRA—S—FERRTRY | B / /
o [BRREAEHERE % 7
EEER m
MR ETF % INFRH TRREmE 51.4kn
2 - 21EE | 28BE | 295 = 5 5 / . /'
m [RE R =) | @R | e | OFE | SIFE E’;/ i“;/
HIEXIAmE knf 426 426 42.6 426 426
hi
1%3 BEIA R IR — ARt B 57,569 58,316 59,046 59,776 60506 / /
X |HHER g AN R A—2—FERETHRE & 45,900 46,805 47,388 47,823 48303 / /
B RRRENE R ERE % 79.7% 80.3% 80.3% 80.0% 79.8% /
BELR m 361,707|  365820]  371,820]  373718] 375576
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(EE)F2R TREE

ENRBEAESH
HXETH % WE T TER R ETR 146 8k
= 215 285 E 295 i N N -

o el @@ | @EmEn) | peg | OFE | SIFE | %R B

7 |HRREER ki 8.4 8.4 8.4 8.4 8.4 / /

 [BREEN— B A 3,172 3,181 3,181 3,181 3,181 / /

| pes R R A—S— FERRfEHE | & 2,024 2,020 2,025 2,018 2,012 / /

g | A U | % -0.5% -0.2% 0.2% -0.3% -03% / /

B RRRENERERE % 63.8% 63.5% 63.7% 63.4% 63.3% / /
- m 53,128 53,215 53,246 53,760 53,949 /
#RER XRTFEERVE | % 0.2% 0.2% 0.1% 1.0% 0.4%

” HXETH % WE T ITER R ETR 146.8krf

i - 215 & | 285GE | 295 N N */ */'

3 [FOFE =) | @mEn | e | OFE | SIFE | FE FE

T |HRREEE ki / /

ff A8 R — R 5 P / /

N [RRERNTR A —FERRARH | @ / /

o (HRRERS AT RE % /
EEER m
HXETH 2 WE T TER R ETR 146.8kni

& " 20FE | 28FE | 29%E /'

m [RENFE 2 |cwnw) | pam | WFE | sex | wm /| sE

}ﬁ BRI ki 8.4 8.4 8.4 8.4 8.4 / /

g | BRI — S B 3,172 3,181 3,181 3,181 3,181 / /

X @ RERARA——FEERRARE | # 2,024 2,020 2,025 2,018 2012]  / /

B RRRENE R ERE % 63.8% 63.5% 63.7% 63.4% 63.3% /
BEER m 53,128 53,215 53,246 53,760 53,949
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(EE)F2R TREE

ENAAEH
HXETH % X TRXEER 993.9kri
- 215 & 284 295 & - i i i
o el @@ | @EmEn) | peg | OFE | SIFE | %R wE
7 (I XEEE ki 308.5 308.5 308.5 310.0 310.0 / /
Z)i HIGRER— R HFHR a 267,298 270,907 274,432 278,778 282,172 / /
% e g z g | PEARARY | 167,021 169,091 170,764 172,050 173,216 / /
g | A U | % 1.5% 1.2% 1.0% 0.8% 01| / /
B RRRENERERE % 62.5% 62.4% 62.2% 61.7% 61.4% / /
EEEE _ : m | 2424181] 2432965| 2448034| 2457,747| 2467436 /
SAATEEMBVE | % 0.8% 0.4% 0.6% 0.4% 0.4%
” HXETH % X THXEER 993.9krf
i = 21EE | 28FE | 295 - - - / - /'
3 [FOFE =) | @mEn | e | OFE | SIFE EE/ 5”5/
T |HiGXEmE ki 1.5 0.0 0.1
;2 A8 R — R 5 P 953 0 of / /
X [BRRENHRA—S—FERRAHEE | @ 12 0 / /
o (HRRERS AT RE % 1.3% /
EEER m 509 0 0
HXETH 2 X TER R ETR 993.9kri
& " 20FE | 28FE | 29%E / /'
m [RENFE Ew | @R | peg) | OFFE | SFE | SR /) FE
}ﬁ BRI ki 308.5 308.5 310.0 310.0 310.1 / /
g | BRI — S B 267,208]  270907]  275385]  278778] 282172 / /
X R R RA—2—FERITHRE & 167,021 169,091 170,776 172,050 173216) / /
B RRRENE R ERE % 62.5% 62.4% 62.0% 61.7% 61.4% /
BELEE m | 2424,181] 2432965| 2448543| 2,457,747| 2,467,436
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